












Equation gives moment of inertia about
centerline axis x-x



Derivation is
not correct
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MecaStack does not follow the calculation for It presented due
to the production of an incorrect value. MecaStack manually
calculates It using sectors as Ic was calculated























yc = 36 in {Omitted from Text}



As previously discussed, the derivation
of this equation is incorrect and leads to
an incorrect It. With an assumed yc of 36
in, It should equal about 180,421 in^4



This means guess of 36 in
was a little off.  Our example
calculated Yc = 26.82 in, and
that led to difference of 0

MecaStack based upon lower
bound curve and got 0.186

Doesn't say what to do
with the P calculated. 
Refer to our article
where we explain what
MecaStack does with
P/Pcl.

MecaStack took Stiffener area and
also local I for member, so our
value calculated was higher.



MecaStack uses AISC 360-16 which uses Forces rather than
stress, so we calcualted total force rather than stress.

MecaStack uses AISC 360-16 for this member check. 

MecaStack doesn't follow this method exactly, since it is very
conservative.  Please refer to article for more explanation on our
approach. 


































